3 Digit Division

Name: Class:

Calculate the quotient

125+ 5= 180+9 = \ —

-
165+3 = 192 -4 = 175+7=
110+5= 256 + 8 = 231 +7 =
140+ 2 = 220 +5= 190+ 2 =
450+ 5= 360 + 6 = 315+9=
144 + 6 = 150+3 = 201 +3 =
105 +3 = 420+ 6= 102 =3 =
130+ 2 = 495 +5 = 100+ 4 =
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Answers

Calculate the quotient

125+5= 25 180+9= 20 W

165+3= 55 192 +4 = 48 175+7= 25
110+5= 22 256 +8= 32 231+7= 33
140+2= 70 220+5= 44 190+2= 95
450+5= 90 360+6= 60 315+9= 35
144 +6= 24 150+3 = 50 201 +3= 67
105+3= 35 420+6= 70 102+3= 34
130+2= 65 495 +5= 99 100+4= 25
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